
Lösungsblatt: Adventskalender  

Erster Dezember:  

       

                  10                           13 

Dritter Dezenber: 

    

           11 

Sechster Dezenber: 

    

 

Neunter Dezember 

         

                               2 

Dreizehnter Dezember 

      

                                   5 

Fünfzehn Dezember 

       

               12 

Sechzehnter Dezember: 

 

 

  

 

          

           4                                      9 



Neunzehnter Dezember: 

             

  8             6 

Zweiundzwanzigster Dezember: 

          

                                      3      7 

Vierundzwanzigster Dezember: 

      

            1            

     

 

Lösungssatz: 

             

  1          2        3      4        5      6        7       8        9       10     11       12      13 

 

 

 

 

 

 

 

 

 

 

 



Mein Bild zur Lösung: 


